Homework:

1) GIVEN: £ D 2)GIVEN: v c
/B=/E & CB = DE _yc=DB&
PROVE: VB =DC B D
AEAD = ABAC C B PROVE:
ABVC = ACDB
STATEMENT REASON || STATEMENT REASON
3) GIVEN: B 4) GIVEN: B
/B=/D & c AD = CB &
BC = DC A E AB =CD A
PROVE: P PROVE: D
AACB = AECD AABD = ACDB
STATEMENT REASON || STATEMENT REASON
5) GIVEN: 6) GIVEN:
AFE = BE & T is the midpoint of ME
ﬁ E& _&Tis the midpoint of
PROVE: GJ
AAED = ABEC PROVE:
AMGT = AEJT

STATEMENT REASON || STATEMENT REASON




7) GIVEN: P 8) GIVEN: E

- __ s _
PT||SR & PT = RS CB ||ED & Aisthe A
PROVE: T 0 midpoint of CD c

TQ = SQ R PROVE:
AEAD = ABAC B
STATEMENT REASON | | STATEMENT REASON
9) GIVEN: B 10) GIVEN:
BD 1 AC & BA = BC A= /28 EB = EC
PROVE: 4 c PROVE:
L= /2 . AAEB = ADEC
STATEMENT REASON || STATEMENT REASON
11) GIVEN: B 12) GIVEN: B
BD bisects ZADC AB||CD
BD bisects ZABC BC||DA A
PROVE: A4 ¢ PROVE: D
ADAB = ADCB D /B =/D

STATEMENT REASON || STATEMENT REASON




